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SECTION A — (10 × 2 = 20 marks)

Answer ALL questions.

1. What do you mean by Under Capitalisation?

2. What is DCF?

3. What is Cost of Capital?

4. Define Leverage.

5. What are Accounts Receivables?

6. Compute the NPV

	Proposal
	Initial Outlay
	Profitability Index

	1

2
	1,25,000

1,75,000
	1.13

1.11


7. Find out the leverage ratio if the capital structure has ` 4,00,000 equity and ` 1,60,000 debt.

8. A Company is considering raising of funds of about `100 lakhs by way of two alternatives. First by 14% Institutional term loan and 13% non-convertible debentures. The term loan option would attract no major incidental cost. The debentures would have to be issued at a discount of 2.5% and would involve a cost of issue of `1 Lakh. Advise the company on the alternatives. 

9. Compute the future value of `10,000 after 5 Years @ 8% p.a. (P.V= 1.08)

10. Bring out the formula for calculation of operating cycle.

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

11. Explain the scope and importance of Financial Management.

12. What are the determinants of working capital?

13. A Company intends to replace an old machine with a new machine. From the following information you are required to determine the net cash required for such replacement.

Cost of the old machine




`50,000

Life of the old machine




5 Years

Depreciation according to Straight Line method



  Remaining useful life




2 Years

Cost of the new machine




`70,000

Installation Charges





`10,000

Amount realized on sale of old machine

`25,000

Additional working capital required


` 5,000

Income – Tax






50%

Capital Gains Tax





30%

   Investment Allowance




20%

14. From the following data, calculate degree of Financial Leverage, Operating Leverage and Combined Leverage.

	Sales (1,00,000 units)

variable Costs
	14,00,000

8,00,000

	 Fixed Costs
	2,50,000

	 Interest Paid
	1,25,000

	Tax Rate
	@ 34 %

	Common Shares Outstanding
	1,00,000


15. A company has 5,000 shares of ` 100 each. It goes for capital restructuring and issues debentures for ` 2,00,000 to buy back the shares. If the interest rate on debentures is 10% with no tax, find: 

(a) The leverage ratio after restructuring and

(b) EPS with an EBIT of ` 1,20,000.

16. DR Limited has the following current assets and current liabilities.

Inventory 


  `50,000         

Trade Receivables  
  `70,000

Bank   


  `10,000

Trade Payables 
 
  `88,000
Interest Payable    
  `  7,000

Compute the Gross and Net Working capital Requirements.

17. Q Limited sells goods at a uniform rate of Gross Profit of 20% for cost of production. Its annual figures are as under:

	Particulars
	`

	Sales (2 month’s Credit)

Materials consumed (Supplier’s credit 2 months)
	24,00,000

6,00,000


The company keeps one month stock each of raw materials and finished goods. A minimum cash balance of `80,000 is always kept. The Company wants to adopt a 10% safety margin in the maintenance of working capital. The company has no work in progress. Find out the requirements of Total Current Assets.

18. A 100% Equity Firm (or Un-levered) has Total Assets of `1000. It has a weighted average cost of capital for un levered firm (WACCU) of 21% and Cost of debt for un levered firm of 10%. It then adds `400 of Debt. Financial Risk increases Cost of debt of Levered Firm to 13%. What is the Levered Firm's cost of equity and WACC?
SECTION C — (2 × 15 = 30 marks)

         Q.No. 19 is compulsory and answer any ONE from the rest of two questions.

          Case Study (Compulsory)

19. An Engineering Company is considering the purchase of a new machine for its immediate expansion programme. There are three possible machines suitable for the purpose.

	
	Machine 1
	Machine 2
	Machine 3

	Capital Cost (`)

Sales (at Std Prizes)

Cost of production:

Direct Material 

Direct Labour

Factory Overheads

Administration Costs

Selling and  Distribution Costs

Economic Life (Years)

Scrap Values
	3,00,000

5,00,000

40,000

50,000

60,000

20,000

10,000

2 Years

40,000
	3,00,000

4,00,000

50,000

30,000

50,000

10,000

10,000

3 Years

25,000
	3,00,000

5,00,000

48,000

36,000

58,000

15,000

10,000

3 Years

30,000


Tax Rate – 50%


Interest on Capital – 8% 


You are requested to show which machine is the most profitable investments, under Pay back method.

20. A company is expecting EBIT of ` 5,00,000 per annum on investment of ` 10,00,000. Company is in  need of ` 8,00,000 for its expansion activities. Company can raise this amount by either equity shares capital or 12% preference share capital or 10% debentures. The company is considering the following financing patterns:

a) 10,00,000 through issue of Equity Shares at par;

b) 5,00,000 by issue of Equity Share Capital and remaining 5,00,000 by issue of Debentures;

c) 5,00,000 through Equity Shares and 2,50,000 through 12% Preference Share Capital and remaining 2,50,000 through 10% Debentures.;

d) 5,00,000 through Debt and 2,50,000 through Equity Shares and remaining 2,50,000 through 12% Preference Share Capital.

Find out the best financing mix assuming 50% tax rate.

21. From the following information, prepare a statement in column form showing the working capital requirements. (i) In total and (ii) As regards each constituent part of working capital.

 






    `
Budgeted sales ( `10 per unit)      2,60,000 p.a.

Analysis of Costs:                                 

Raw Materials                     

3.00

Direct Labour                          
4.00

Overheads                               
2.00

Total Cost                               
9.00

Profit                           

1.00

Sales                            

10.00

It is estimated that

a) Raw materials are carried in stock for three weeks and finished goods for two weeks.

b) Factory processing will take three weeks.

c) Suppliers will give full five weeks credit.

d) Customers will require eight weeks credit.

It may be assumed that production and overheads accrue evenly throughout the year.
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